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I 17-22 mwn: guidelines for Y19 of a nnn
a If: the 103 does nx¥np with intent to eat 0»w (even a n’1d) or to burn ymp (even n’1) or to burn nnab
i Outside: 9708 — no N7
ii  The next day: 9»o - and there is liability for nv (for eating it)
b Rule: n¥np, or placing in the "9, or walking it to narn or burning it with intent to eat edibles or burn burnables for:
i Outside: m13 11 PRY 9100
ii  Tomorrow: N3 15y Parm Yo
iii ~ Stipulation: the rest of the 9>nn has to be brought properly
1 Therefore: if everything is done with no other wrong thought — those consequences obtain
2 But if some of the mmay were done with 1mpn% pin nawnn and the rest with 1015 pin — only 5109
(a) And:if mRrip/R0IN NMn includes a 1nW5 ®YW nawnn - only Y109
3 Within one act: if he mixes intents (mypn and jnt) — only %108
(a) Dissent: nmi "1 — if 0t came first — Yn9; if DIpN came first — Y109
(b) p’pom in either case, only 9109
II  Question posed: according to 7"n that if the 01w are diminished after nxnp, we still burn the ymp
a  And: we hold that in that case, the D»7'w can not be eaten
b Ifhe: had intent to eat them tomorrow, does the burning make the 0w into 919 < no more nYyn?
i ~2177 77 no — even according to »™, that ¥V nH»n np»r, doesn’t help here
1 Reason: in that case, it’s all “present” (but outside) and the 9109 is extrinsic
ii ~ #37 yes —even according to X" that 829 nY»n np»r PR — does help here
1  Reason: in this case, it’s in the same location as it should be
2 Argument: R»n "Y's version of our n1wn does not include the phrase n &
(a) Explanation: it must be even a case where there’s only a no1 left of the n»w
(i) Note: since that is the case for 931 1nn and on, the n1wn omitted it for n¥np as well
3 And:in such a case, there is 919 2 even if 0”7 are diminished, it’s considered Yma
4 Rejection (»an): this follows ®™ (from 3,7:» ©>nar) who requires entire ymip to be burnt for pina nx5yn NoOR
(a) Challenge: if X", he should require the n12% and ymp to both be burnt — per 1:» nmar
(b) Answer: could be a case of XvIn nnan (no NN1Y)
(i) Challenge: could our Rin have constructed the entire nywn around that one case?
(if) Answer: indeed — support from 77 "9’s report in R"7’s name — our MW is R"IT RPHR and RLIN NN
iii  Backup (x%37): n1opn will not help take this nnin out of the status of n»yn (agrees with n™)
1 Proof: v. 1 (re: o1an onY) - if one of them fell apart, all mYn are invalid
(a) Implication: if one was &¥v, the ones inside are still fit and may be eaten
(b) Note: this must be authored by ¥, who holds 82 no»n (212 p1570=) N>, yet if it is diminished — 508
(c) Challenge (»a8): inference of XV isn’t recommended, perhaps inference is if one was Xnv
(i) Reason (others aren’t tainted): because the y'x effects 1% — but not XXV (>R - RXVY NYYIN NPR NPII)
(ii) And: the reason that nv191 was mentioned — that even if its all inside, still invalid (certainly xxv is)
(iii) Howewver: according to ™9, just as R¥vH nY»n np»1, it also works for novm
IOI 27 nawn: ¥4 no1d to burn and %2 nots to eat (tomorrow) — not 470N, as NVPM NYIR cannot be merged
a  Inference: if he intended to %2 not3 of eating edible and to eat V2 n of non-edible — 9100
i Challenge: the rule in our n1wn — only edibles are reckoned
ii  Answer (77072 73): our Rin is 8" who allows “cross-intent” from narm n%IR <> DIR NYIR (ahead, R:3)
iii  Counter (»2a8): could even be R"™7 1127 — inference is incorrect; not ¥2 edible +1/2 non-edible, but both are edibles
1 challenge: that's already inferred from &w» — since %2 yina and %2 ann aren’t 7080 = %2 9nn + %2 nn are!
(a) And: this can’t be teaching about n%5x not combining with n1opn — that’s inferred from xw»:
(i) If eating (edibles) isn’t 970%n to eating (non-edibles), then certainly 08 + n7vpn aren’t 970xn
(if) Rejection: n%a% and n1vopn are a more likely pairing for 911%, as each is being processed in its proper
way; unlike eating 9198 1577 927 with 51985 1377 PrRY 727
(iii) Therefore: our part of the nawn is needed to teach that they are not q7vxn = »aR is refuted
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